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ECONOMICS
( Regular Electivé )
Paper : ECO-RE-6016/6026/6036
Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
Paper : ECO-RE-6016

( Economic Development and Policy in India—II )

1. Answer the following questions : 1x10=10
O AT e fora
(a) What is minimum support price?
T T @ R 2

(b) Mention one source of non-institutional
agricultural credit in India.

TROS bl HARHRT FA 97 Tom am Ty
1
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(o)

(@

(e)

(9)

)

1Y

A23/731

(2)

What is White Revolution?
ove Rag 2

Write the full form of NABARD.
NABARD ¥ = Sieo1 fofd1 |

What was the main objective of New
Industrial Policy, 1991?

355 TR TP e AT I3 T &
1fRe 2

When was Economic Reform introduced
in India?

TS HIF ATFR (A =93 C2f%e 2

Mention one step to revive the MSME
taken by the Government of India

recently.
Ao FloTe SRO I YOS GRS
TH, TG I TGN ST AL GOl AT
Tead 91|

Which commodity has largest share in
India’s export?

@A G923 SRed IYME SRFIT @rame
s

Mention one import substitution policy.

9B ST s S Soay 4 |

( Continued )

(3)

() Which institution controls the inter-
national trade of the world?

T SEEfes Mfdes o Afewia fRaaEd
FA?

- 2. Answer the following questions : 2x5=10

e ANERS e ford

(a) Mention two sources of long-term
agricultural credit in India.

Sed T FR 4F BT PR A Seay
0

(b) What is Jhum cultivation?
e 52

(c) Write two reasons for privatization of
Indian industries.

SqOR BTl [EIRIAIPI o1 PR o1 |

(d) Write two objectives of ‘Make in India’.
‘T 2 23 ¥o1 St o o

(e) Distinguish between foreign direct
investment and foreign institutional

investment.
oferT (iR RCS oIF SR @
RfeR T 2 <L 77|
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(4)
(S)

3. Answer any four of the following questions :

5x4=20 () Explain the main reasons for recent
— ! Ser Tod o : crisis in India’s balance of payments.
amiclegie 4 6 AR T[S SRST ARCIE SRS R @
ndia’s
(a) xplain the role of agriculture 1 1a ﬂﬁ%ﬁmmwwl
economy.
SRe weAfee PRI PHF ST S 4. Answer the following questions : 10x4=40
A | TER 20T Tad fere
(b) Wha}: pre t-help?b-iegs 1°tj agricultural (a) Analyze various land reform measures
marketing 1 Indiar Lxplain. introduced in India. Explain their
TRee PR IGRI STPEICHR & 9 =cEmwar effectiveness. 6+4=10
91 ; oRes Fos @[ [fen s eveR AR
(c) Explain the main causes of Industrial . R 341 | TR Fweel M 91 |
Reforms in India undertaken in 1991. ' Or / WAl
3555 DO TS CART STHF FFE I3
SRR S 91 | Explain various causes of rural indebted-
ness in India. Suggest measures to
(d) Briefly explain the export promotion overcome it. 7+3=10
measures undertaken by the Government SRS A Yeger S SRR T 400
of India in recent years. (IR @A SeqX #A1f, e[ |

Hefed Flere SRS bR OO Rl I : -
() Explain the role of cooperatives in

?ji%?i TIEPTR Bﬂiﬂsw |

- Indian agriculture. What are the weak-

(e) Write a short note on ‘Stand up India nesses of cooperatives in agricultural
Scheme’. development in India? 5+5=10

8% oel e “RTET Ry @b v G TRES FRCTFEE THAET SRR S I |

fert | oRed  JRCTE TS CR@e AR

vfeT O I 1 |

A23/731 { Continued ) ( Turn Over )
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(c)

(d)

A23/731

(6)
Or/ 9«1
What are the <causes of slow
industrialization in India? Discuss. 10

SReq ¥gd  Suuead FRPR & 62
A 1 |

Explain various sources of industrial
finance in India. 10

e e feq RiSH SoPRR Sl
9|
Or/ 911

Explain the role of private sector in
Indian economy. What are the

limitations of private sector in India?
6+4=10

sen TeAIfee IfETe 167 ST 36 91|
SRS IS 497 SETRE & 57

Analyze the foreign trade policy in India
in post-reform period. 10

R AFIAMET IEICRAS SROT (AT
ey TS Rosma 301

Or/ 91

Discuss the impact of globalization on
Indian economy. 10

TR TeAifee AR dom| socd Sam
41 |
( Continued )

(7))

Paper : ECO-RE-6026

[ Economic History of India (1857-1947) ]

. Answer the following questions :
o 2RI B o

1x10=10

(a) Who advocated Drain of Wealth’

theory?

“Sesft fafae’ ©gH (FA R ?

(b) Mention one source of capital.
ToAq o1 e ey 91 |
() When was railway service started in
India?
THEI(S @R Gl (ol 24787 I 02 ?
(d) What is famine?
e 2
(¢e) Mention one source of institutional
credit.
PIRE A «ft Tt TCEd 9
() What is national income?
wrow o % 2
A23/731 ~ ( Turn Over)



()

(8)

Which sector contributed maximum
contribution to natio_nal income of India
during 1857-1947?

Srea-5584 T THWMEREG SROT  Gom
AL (FICoT A3 SIS Il SNa_uIRfRE 2

(h) What was the growth rate of population
in India before Independence?
AR S SOd SPRYN Jfad 39 R
e 2

()  Who first estimated national income in
India?
SRS AN (FICA ORI 51T Fafee 2

() What is colonialism?
efferceRm 5 2

2. Answer the following questions : 2x5=10
e HCART Taq o7
(@) Mention one export and one import

(b)

A23/731

items of India during 1857-1947

Srea-35845H WS SRe Igf W
Sl T4 TR T Sz 1y |

What were the objectives of expansion of
railway in India?

SRORE @A THRE oA
fee 2

( Continued )

A23/731

(9)

(c) In the time of colonial rule, what was
the main purpose of the government?

BAFERT *PTS SIFRA 24 Sl & ifee 2

(d) Mention the main sources of occupation
in colonial India.

P oo it 2@ SormR
wifeet, Seay 41 |

(e) Point out two bad effects of colonialism.

et o1 et Sgleris fran |

Answer any four of the following questions :

TR ST R R DR S e

(a) Write a short note on internatiorial trade
under colonial rule. '

BfERe P SIS SEEfee  qMwd
@S 951 5 (Ol o |

(b) Explain the role of railway in changing
the industrial structure in India.

SRe SR SRFE ”Tﬁ?l‘é?r@ @A S
AT FAN
(c) Write about the land system in India
during 1857-1947.
Srea->582 54 TGO ©Fed S INER
faca o |

5x4=20

( Turn Over )



(10 )

(d) What were the causes of low agricultural

productivity of India?

Heq $RT A SeommREeR PRIER
iR ?

(e) What was the agricultural marketing
system in India during colonial rule?
IR WA TS SR IR TR I/
(R w=e ?

() Discuss briefly the institutional credit
system in India before Independence.
FAOR SR S SRes SRR 4
R KA TS S 91 |

4. Answer the following questions : 10x4=40
woq 2PICAIA Bed o :

(a) Give a brief description on colonial

A23/731

economy.
o S ft v 3t i
Or / 9241

Wr%te an essay on national income
estimation during 1857-1947.

Srea-358 B O TOw oY R Few
Gl 471 o141 |

( Continued )

(11)

(b) Discuss the characteristics of agrarian

society of India before Independence.

mﬁﬂwvﬁw@%ﬁ?@w@ﬂwaﬁﬁm
Sl 9 |
Or/ J[l

Discuss the state of commerce and
technology in India under the British

rule.

A MPRTES  SRON A wF 2R
SrERcEACICIPRISSIR

(c) Discuss the role of railway in the

economic development of India.
B SR s e R R
FCEAD F4

Or / 9l

Explain the constraints to industrial
development of India.

Sed S T ifrrRerTR T |

(d) Discuss the Drain of Wealth’ theory.
sproops; TS OG0 SCADA P
Or / |l

s of fiscal policies

Describe what type
rnment

were undertaken by the gove
under colonial rule.
e PR T o & ®WH®

Wﬁﬁamaﬁﬁﬁﬁ,amwn
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(12)

Paper : ECO-RE-6036

( Public Finance )

1. Answer the following questions : 1x10=10
SR SPPIRA ed ford :
(a) What do you mean by Pareto efficiency?
Cotss’ el Jfercat of 16 ge 2
(b) Define public good.
oAl TR I T o
(c) What is tax incidence?
I HeASH R 2
(d) State one objective of fiscal policy.
IO A6 B Teor BT 0|
fe) When did the GST era start in India?
TRTS GST Jo1 (I oS (2T ?
m “When revenue income exceeds total
expenditure then budget deficit occurs.”
Is the statement true?
“fem IE2 OR P IWSE @R W i
eEs b SKEHE R 177 Reghl e 2
(g) Give an example of non-tax revenue.
SIS I o1 T fa o
A23/731 ( Continued )

(13)

(h) What is market failure?
R Rewrol 7

i) Write a source of revenue of a local
finance administration.

7 RO PFR T BT GBR AW B

() Which ministry of India prepares the
Central Budget?
TR (IO NIRRT RO 2T FCI ?

2. Answer the following questions : 2x5=10
S RIS e fora
(@) Mention two characteristics of a good
tax system.
<51 ST 9 IITE ! AR TCE I

(b) Write two differences between public
finance and private finance.

R e uF e Re Toe @
Nl T |

() Mention two determining factors of
taxable capacity of a country.
@@ PR W o e PRl
Topaa I SCEY 0

(d) Write two importances of fiscal
federalism in India.

Ses TMIRE (TG TIER I &FY
o
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( 14 )

() How does equity princi
A principle of
social welfare? P tax ensure

F9 o AR

. Answer any four of the following questions :

o ANER] R @I wifbrR Teg forgr Sx4-20
(a) Distinguish between dir tax an

L3 . t

indirect tax. * d

2AOPF T HF NAF II9 NS 4 N forar o

(b) Discuss the effects of taxation o
consumption. "
TACOITS I AR 0 A 3 |

(c) Explain the main objecti
- jectives of
policy of India. monetary

RS (AIftF NS 77 SwpaR B [ 9

(d) What are the main reasons of
collection in India? fow tax

TRTE I MR FH AN T FATI R R 2

(¢) Why does fiscal deficit occur in a
developing country?
TN (PO IR I Y T = 0

il .Explain briefly the role of indirect taxes
in an underdeveloped economy.

;ﬁ@w@ﬁvmwwmam

A23
/731 ( Continued )

4. Answer the following questions :
S 2PARd el o
(a) What is

(15)

10x4=40

externality in the context of
taxation? How do taxes on negative
externality of consumption and produc-
tion give socially efficient outcome?

T| cFae R IR B @R e
A BT AR ARFOrS T et

AR 22D T 3 e ?
Or/ 9t

What are the major problems of tax
structure in India? Explain few measures
taken by the Indian Government to

mitigate these problems.

¥ e B R oo

(b) Critically explain the ability to pay

principle of taxation.
4 o Y ORI T

SRR |
Or/ 9%l
Discuss in detail recent fiscal policy of

India. What are the major changes you
have noticed in these policies?

Wa@mmﬁ’m%w&w

A23/731



(16 )

(c) Explain elaborately the importance and
limitations of local finance administra-
tion in the context of federal structure of
India.

REY PP oFg O MURwer IzR
HCEsA] 47 |
Or/ 931

What are the various types of budget?
Describe the role of budgét as an
instrument of economic policy.

AWw (7 2ReRER R B2 9dats Mx
SR RoTeet BT SRR I 9 |

(d) Explain the structure of taxes of India
in detail. . .
SRS T MAAT R R a1
Or/ 5[

Explain the difference between monetary
policy and fiscal policy. How do these
policies affect the economy of a country?

s S oI IEceRT AR NfFRA™ 360
FM1 93 orR wEAe @} Mz R
SR (e ?

* % %
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